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ol Al 4

-HEoll AS :30% -S
-HEM QS :70% - F
4 I8 U9 F=&, X:HWEolJI U= LR £

X g2 £ )
0 FFFF(1) 1/16
1 FFFS,FFSF,FSFF,SFFF(4) 4/16
2 FFSS,FSFS,FSSF,SFFS,SFSF,SSFF(6) 6/16
3 FSSS,SFSS,SSFS,SSSF(4) 4/16
4 SSSS(1) 1/16
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X X T X3 Xy
] EH—II’I': » O7HI %I\.!l
| D1t ets
a2 = &xla=Z
A () T4 HH &=
_ _  10,000,000x1-+1,000,000x4+100,000x10+10,000+100
X, 1000 1 100.000
X, 100 4 1 4
_ = 10,000,000x +1,000,000x
X0 10 10 100,000 100,000
XD 1 100 +100,000% 2 110,000% 20
_ 100,000 100,000
XD 0 99,885 5
A 100,000 = le % T(%) =1602
i=




0 eg X f(x) xf ()

0 0.1 0

E(X)=p, =u : X<l 7]t 4k 1 0.2 0.2

n ‘ 2 0.4 0.8

B ; % T0q) 3 0.2 0.6

4 0.1 0.4
eqg) #4.3 @
X 09 E(X)

22 0 : +400,000,000 (2t= : 1/4)
X

o

| Rk
=

1 -5,00,000 (ZE :3/4)

L

- E(X) = 400,000,000 % % +(~5,000,000) x% = 9625(3F4)
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E[h(X)]= h[E(X)]

oel: h(X)=aX +buae
E(h(X)) = E(aX +b) = aE(X) +b = h(E(X))




Var(X) = E[(X - 1) 1= 3 (x= )" £ () = T () 20356 (0 + 23 T (x
=E(X®*)-2u" + 4 =E(X*) -

s.d(X) = Var(X) = JE[(X — 1)?]




Var(aX +b) =a*var(X)
s.d.(axX +b)=a|s.d.(X)

© dgr=tEF *Z (Joint Probability distribution )

eg. Ol, 22), (BN, I L), (MY, DEYE)
(X\Y): £ oo stmpso 2y
(X,Y) S ZBERZ : (X,YP} Flot=s 2E ol HSH = 2ES
RAEoZM | It
XX, X,y X, = FIEICH
S 3|5t

YoV Yoo Y,




Y Y, Y, Y, 2 A
| W ey oy > 104y, = (%)
o | T ey f0y) > 104, )) = f (%)
| 0 T () > 1063, = i (5,
&t 7 if()g,yl) if(xi’yn) 1
|=1U U
fy (1) fy (¥n)

Z f (X, y1) :ZP[X =X%,Y = V]
i=1 i=1
=P[X =x,Y =y ]+P[X=x,Y =y, ]+ +P[X =Xx,,Y =V]

:P{U(X =X,Y = yl):|:P[Y :yl]: fY(yl) - FHEESE

i=1




g(Xx,Y) : XY ¢ e

E[g(X.)1=Y Y a(x,y,) f (x,y,)

i=1 j=

eg. E(XY)= ZnyJf(x y;)
E(X)—ZZXif(Xi,y,-)—Z iZf(Xi,yj)=ZXifx(Xi)=ux

E(aX +bY) = ZZ(ax +by ) f(x,y;)

_aZfo(x y)+bZZny(x y;) =aE(X)+bE(Y




y 4 X St=2y STt
o ® X 2Dy dE
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eeo
X
A XSIt=2> yaa
Y ° X222y STt
"o oo %
®o0 .0 O %Q[ A(S‘]L‘::!ﬁ Hi
°
X
Cov(X,Y)=E[(X — 2, )Y — 15, )] = E(XY) — 1, 4, et E(XY):ZZj:xiyjf(xi,
Xiyj-r&y
COTT(X,Y): COV(X’Y) of e :

JZx =Ty

JVar(X)Var(Y)




0 Z2AD} AR 50| S

Cov(aX,bY)=abCov(X,Y)
<E[(aX —az, )(0Y by )] =abE[(X =z, )Y — 14, )]>

Cov(aX,hY) _ab
Jar(ax) Nar(by) |ab|

Cov(X, X) = E[(X — sz, )(X — sz )] = Var(X)

Corr(aX,bY) = Corr(X,Y)

X, Y, Z,W

cetEHe
Cov(X +Y,Z) = E[(X +Y = (et + 4, )Z — 11,)]
=E[(X — s (Z — 11 )]+ E[(Y — 4, (Z — p1,)] = Cov(X, Z) +
Cov(X +Y,Z+W)=Cov(X +Y,Z)+Cov(X +Y,W)
=Cov(X,Z)+Cov(Y,Z)+Cov(X,W)+Cov(Y,W)
Var(X £Y)=Cov(X £Y, X £Y)=Var(X)£2Cov(X,Y)+Var(Y)




A B P(AB) = P(A)P(B)

X IX Xy ey X

Y “Yi Yo Y
X,Y

f(x,y;)=P[X=x,Y=y,]=P(X=x)P(Y =y,)=f, (x)f, (y;) i=1-m j=1.-

>
But~!!
E(XY) =23 %y F 00 y) = 2 )Y i 00 (V) oavxyy—o 012H 2 A
joi i

Lo

Cov(X,Y) = E(XY)~ E(X)E(Y) =0
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slE
X ~st=2y  f(X)=P[X=Xx]
T etE F(e)=P[X <c]=} f(x)
X f(x) F(x)
1 0.07 0.07
2 0.12 0.19
3 0.25 0.44
4 0.28 0.72 P[X =3]=F(3)-F(2)=0.44-0.1
5 0.18 0.9 P[X >3]=1-F(2)=1-0.19=0.81
6 0.1 1
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